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11.
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-

wamigell ageady MM sl 8. s ol el sl vHL % WRHRR ¢
udi WRsuu ut YA 54 6 7

- (A) X5Y, (B) X;Y; (C) XyY; (D) X5Y,

58 wls weudlui eds wal dous A 8 7
(A) BaSO, (B) HgS (C) CaSO, (D) ZnO

0.01 m K [Fe(CN)g] it ¥ellu giart siRigHi adl 4adl 0.0744 K 8. glasl Hagy
et v 1.86 3@ B N @ A g Ayel Qo iy ol sl ug

wARYA 54 O 7
(A) K,[Fe(CN)]]  (B) K3[Fe(CN)s]  (C) K[Fe(CN)¢] (D) K,[Fe(CN)]

R A A5 vt veldld 1.6% wiqel, 2.4% Ru-L sianl AA G 8. 4
ol glaRMi g1as 5% Sld dal oisll dedl 1 ud/AH? €l dl 2tid veleld 2y
e Jeel ad ¥l ? (YR wEy ea 60 /M)

(A) 30 (B) 40 (C) 80 (D) 90

A1 U sul rely glavg GesanlBlg 102.2°C 4 ? wielldl Hlae Geid wis 2.2
Y@ Beaum a8,

(A) ] m CH;,COOH(B) 1 m NaCl  (C) 1 M NaCl (D) 1 m 3gél»
D21 U s verl welld gaed VC - Ap il 2udu 0 e AR HA !
(A) HCI (B) NaCN (C) NaCl (D) HCN

Pt| Clyg | Clic, ] Clg,,
1 ouR

Clz(g)l Pt siflad 4N e sl Rsey 2oy § 7
1 &R

cell 0 (D) Cl g C2 )
4e oedld CuSO, it st A Jdl @ RgaReus- exBu gaa-l pH
(A) adld w2 8, (B) 42 8. (C) »um 28 8. (D) a4 8.

(A) AG = -ve ®C>C (OEF

oo A A4 56 gl g yse wedl B ?

(A) (3@ wat . (B) [auaq (C) sda (D) naua-

A U4 6§ Cu -l s13ll g ?

(A) Rude . (B) VAade  (C) 3@ust (D) AAsSe

65.4 WM Zn -l Wi u6Rs AR AL uBurell Yeew s R uisaly Resart udl!
(RN €1 Zn = 654, N = 14, H = 1, O = 16 an Qe

(A) 654 (B) 126 (C) 130.8 (D) 252
108 ,
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12, - DA U s ARl el 4R H-ugad Sl wd A Asdal © 7

(A) §181Rs AR : (B) sls wRAs

(C) W $RERs AR (D) 88l AR
13. (CH;); CONa {l a1 U4l s uBus wAAN uBu qell wa el ?

(A) CeH;sBr (B) (CH,),CHBr (C) (CH;);CBr (D) CH;CH,Br
14, QA U4 56 B solFs Auy RAds dfd auau 8 7 |

(A) CHCl; —Ha/MNi, (B) sdR¢ + Ca(OH), —
(©) sdlRet + AN — (D) CS, + 3Cl, _GHAC) |
15. 02 Al su Ao usiellu s Sl WL A o HASARL Hut o ¢ 7
(A) n-eg2 (B) 1Sl Urer (€) Al A+ (D) n-U2r
16. B-ude gz A Rfa AICK Al siodlal wBu sl 56 v A 87
(A) o-Sulsl ARABAA 217 p-Selsfl ARABA
(B) o-s1S{R( ARARNA v p-s1SsAl ARAZA-
(C) o-Rauda ARAGZAA 27 p-Reudd ARAG-\
(D) o-RUlR(l ARAB-N 4 and p-[AlsAl ARAZ-AA

17. STP ¥ 560 (Relldler JqelSio Ay Gourt sl M2 A3t Al Jzal i Sa-la-d
WBaL sl W 7 (SAllag ey ea 46 um MaT)

(A) 11.5 (B) 1.15 (C) 4.6 (D) 2.3
18. ABis AR R Brlag 2RQA 4 wadl luwg IUPAC <m. |
(A) AAsAl 50-2, 4-319-1, 4-31dld (B) Adscdl d501-2, 4-3165-1, 4-314l
(C) wusell €531-2, S-36m-1, 4-3dlet (D) Asel 85012, 5-35-1, 4-314
19. 298 K awtidl X, + Y, — 2XY + 20 KJ uBul uBusea Gof 15 kJ € ol
2XY — X; + Y, Bl aBusea Gof dedl ua ?
(A) 15 kJ (B) +35 kJ (C) =5 kJ (D) =35 kJ
20. A s IRAAFA dra-dl v quY 15 Bl eld dl 50 i 3R0AER drastisl
I sellsel vid 3ol A aut ug e 7

109

(A) 37.5  (B) 25 (C) 43.75 (D) 46.875
21, ws UBwAL QoL vAMisd Y 1.75 X 107 12 e A5 B dl A WG w2y

UMYty o . |

(A) [Ro]™ ®) R> (© Ry (D) [Rl

22, 25°C i, geeefla siRallnet Al 2udvin sy Yer 0.5 1A wid:Bed Hew 0.4771
® dl 4 ur eoud wRANaAg WU eg ud ?
(A) 12 » (B) 6 €2 - D3

23, Qauj gy dorsn sul Sueasini GRRAME vl 3ol Bigad wA &7
(A) SsRaz 2084 (B) s B - (C) & By (D) &4
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30.

e
24, Qiu U4 AeiRs oy wssid Wi 4 sdl 8 7
C(A) ¢t > M = Fe* (B) Cr'* = Mn"" < Fe”’
©) C* < Mn? = Fe® (D) Cr** < Mn™ < Fe'
25, iidR UsiR drarl Asofui 8§ Ru WG B 7 '
(A) Ce, Gd »A Lu ¥l a--ASgull Saslu Ul ¥ $AsR 5d susML oRYey
B) ARASREML Pm WDUBY dr B.
(C) AAAASRAL vuusllsza Al e AFRASRL s2ti 4y U 8.
(D) A-AASHR-L 28 Alds €lu B.
26. 021 A4 sy dlel wut Al 2efl ddodous Hvadi usiag QNG 53 B 7
(A) [Co(H0)*  (B) [CoFg)™  (C) [CoCN)e]™ (D) [Co(NHy)J"
27, A L wdlell 5§ Rt welly sar, 0.1 M AgNOsqq WA 2 2l il 3y
AFE AW 24 ? ‘
(A) [Pt(NH;);Br;]Cl and [Pt(NH;),Ch]Br;
~ (B) [Co(NH3)sNOs]Br and [Co(NH3)sBr]NOs
(C) [Pt(NH;),Cl,]Br, and [Pt(NH;),Br,]Cl;
(D) [Co(NH3)sNO;]Cl and [Co(NH;)sCIJNO;
28. -0d-u U4 5§ Qwllsaa Wa wBu © 7
(A) 2CH,COOH —H20i8 (B) 2CH;CHO MO,
(C) 2CH;COCH; — 02 (D) 2HCHO —eNeoHea) ,
29, . sy A AARs2 A vuug Al 7
"(A) (CH;);C-CHO (B) C4HsCHO
(C) CH;CHO (D) (CH;),"CHCHO
AP Soll@e1Ss A 1-Leua—an—1—ldl AU wuedd Abnn-(l You Quz 56 44

8 ? |
(A) <§>-(:H2 —CH=CH—CO—@
B) @CH=CH—CHO

©) @-CHZ —CH=CAH-@ |
(D) @—CH=CH—CO—@.
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3l.

32.

33.

3s.

36.

37.

38.

39.

AL A4 56 w3
T ? UEwAL Yo Aluy Al welude, seluds wd dellus Aesl Aoy

{

CeHsCl + u
(A) CeHs 2NH, _ 0, (B) CH;CH,NO, __LiAH, |
60 OlIR _
Li .

A AAA R ) g3 oy @ 7
(A) 2eld ML ADsAL sy -
CH;-NH-CH, > CH;NH, > CH;-N-CH;
cH,
(B) Gesart (gl 5% :
CHa—ll\I—CHs > CH;-CH-CH; > CH;-CH,~CH,-NH,
. CH,
(C) UYHU AURUML ARBscu-l sy :
CH3—1|~I—_CH3 > CH;-NH-CH,; > CH,NH,
CH, '
(D) elld siHdidl $% :
CH3—II~I—CH3 < CH3;~CH,-NH-CH;>CH;-CH,~CH,-NH,

CH,

Al JAAMAYY sAlUSSAL SAAle W uBUL udi 56 WEASH Aluxr 4d & 7
(A) Al (B) [(3-la (C) A-l&elsss (D) AReUSelss
sl ARA AR sl [Bllus 2001 w3y slu & 7

(A) s (B) caiufl (C) A-ug (D) el

A Y 5y W Resui €y & 7 '

(A) (-~ (B) 3él+ (C) vueeyl- (D) $—=yfa-

QA V4 sl QMR a2 RasilRd AR 6 ?
(A) 38l (B) -uudi 6, 6

(C) el 2, -uudl- 6 | (D) Adeuse
sy Qe Guadlor a woudl oitiaeyi wd 8 7

(A) Ryl (B) Wdlziudl (C) 256l (D) Al -

Q2 el A4 s selfeiizad oane Ad QU 8 7 |

(A) Ay (B) 3 (C) RuH . (D) ysldi»

QA sl Y5l 20Ny & 7

(A) uayeudl @®) oolFes  (C) nulds (D) RS

Q3eu 4 whell 56 Al welBis Fousld AsHAL w ollBRSs 2R WA B 7
(B) K,[Ni(CN)] and K,[Ni(CN)4]

(A) K[MnO,] and K[NiCld]

(€) K,[Ni(CN),] and [Ni(NH3) Cl,] (D) Ky[Fe(CN)g] and Ky[Fe(CN)g)
. ga4a

™ |
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o MAY-2017 : QUESTION PAPER-1 3 =
1.  Ans. (Delete) 10. Ans. (D)
2. Ans. (B) | Solution : Adsid2 CuCO; Cu(OH),
Solution : HgS Rhombohedral . 11. Ans. (B)
Qll, a=b =c. Solution : Zn + 4HNO3(CO,,C_) —_
3. Ans. (B) Zn (NO3); + 2H,0 + 2N,
Solution : AT, = iK;m 12. Ans. D)
0.0744 = i x 1.86 x 0.01 Solution : Z18U[As AR
A . 0
=i=4 I
&!{l, n=4 H3POB {)\0
K;[Fe(CN)g] yat 9. OH
4. Ans. (B) 13. Ans. (D)
Soluti 1.6 2.4 Solution : Sy2 UBus -
olation = "1 = 60 14. Ans. (B)
1.6 lution :
= M= — x 60 = 40 w4 Solution
2.4 sdl2d + Ca(OH), —— -CHCly + (HCOO), Ca
5. Ans. (D) | | SOEEP
Solution : AT, = 2.2 = x 22 x 1 15. Ans. (C) |
=i=1 CH,
6. Ans. (D) _ | .
- Solution : HCN is weak electrolyte. Solution : CH3_(|:_CH3’ all H are same
7. Ans. (B) CH3
Solution : CI° —— (I° 16. Ans. (B)
| . 1] .
c, Solution :
Egey = —0.059 log OH ot |
1 C—CH,
C, -—O_C—CH,—@L + @
= 0.059 log | — 1 :
C2 C—CH,
C1 > ) (ljl)
For spontaneous process so. incorrect | 17-  Ans. (D)
is B. - . Solution :
, ' I
8. Ans. (B) CH;0H + Na — CoH;0°Na® + = T
. Solution : [agct[awm eRL H,SO, form
adl pH a2 8. 18. Ans. (D)
9., Ans. (0O

' ;ﬂm R N
Solution :
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—
9. Ans. (B) 28. Ans. (D)
golution : ApH =-uGuidl 3Bys3a Gaf - | Solution :

wBu-l ABuse Gof
= -20=15 -9
So, +35 kJ.

20. Ans. (D)

Solution :

3.125 g remain
g4t = 46.875
21. Ans. (B)
Solution : 2{lA UBu-l qay
~ tp e Ry
L, Ry
| 22. Anms. (B)

- | 1
- Solution : log(x/m) = logk + o logp
logk = 04771, k = 3

= = (0.5

]
n
X

— = 0.5 _ .
— = 3)@" = 6)

23. Ans. (D)

M. Ans. (C)

Solution : Cr** = 3d> 3 unpaired electron.
Mn*? = 3d° 5 unpaired electron.

Fe™ = 3d> 5 unpaired electron.

H—-(”:——H — H—c_ﬁ) + CH,;0H
0
29. Ans. (B)

Solution : Aromatic aldehyde not giv
Benedict test. ‘

30. Anms. (D)

©EEE)

31. Ans. (O)

32. Ans. (O)

33. Ans. (D)
N, Ci®

+C,H,0H —a@ + CH,—(“:—H +Ny+ HCI
‘ [CIEETARTTTY]
34. Ans. (A)
Solution : Fact.
35. Ans. (B)
Solution : Fact.
36. Ans. (D)

Solution : A3a152 Wellu duri 43 BisieiR,
el 8.

37. Ans. (A)

Solution : Fact.

38. Ans. (D)

Solution : Fact.

39. Ans. (O)

Solution : Veronal is Tranquilizer.

40. Ans. (C)

Solution : K,[Ni(CN),] = Ni*? = 3d® 4s°

With cyanide, Ni*? form square planar
and diamagnetic complex.

K,[Ni(NH;), Cl,] — Diamagnetic and
square planar complex. |

5. Ans. (B)

Solution : Pm is not actinoids

2. Ans. (C)

Solution : Wavelength of light absorb

1
> stability of complex

1. Ans. (C)

Solution : AgBr — 2l Al

AgCl — u3e

0 QaQ



